
DRAWING FINISH GOOD ITEM NAME QTY/UNIT

MANUFAC
TURER 
NAME

MANUFACTURER REF 
SIZE / 
WEIGHT/DIAMETER

MATERIAL AND 
GRADE

FINISHING

0 ICONE KITCHEN MIXER GAOAO 2062
1 Plug 1 GAOAO u43164GY ABS
2 Screw 1 GAOAO g24199 Stainless Steel
3 Handle 1 GAOAO f07255CJA Zinc alloy CHROME 3 PLATING
4 37 Beauty cover 1 GAOAO t09010CJA 2 ABS CHROME 3 PLATING
5 Cartridge nut 1 GAOAO w21212 8 PP66+53%GF
6 Cartridge 1 SEDAL 08EN35S1503 46 -
7 cartridge seat 1 GAOAO b03071E-2 57 brass
8 Cartridge house 1 GAOAO f37271CJA 80 Zinc alloy
9 O ring 1 GAOAO m19149N EPDM
10 Friction ring 2 GAOAO x26402 plastic
11 BODY 1 GAOAO f03072CJA 593 Zinc alloy CHROME 3 PLATING
12 O ring 2 GAOAO m19306N EPDM
13 Sleeve 1 GAOAO f37272NP 230 Zinc alloy
14 Base ring 1 GAOAO f38285CJA 64 Zinc alloy
15 O ring 1 GAOAO m19057N 1 EPDM
16 Spout protect sleeve 1 GAOAO v37273GY15 8 POM
17 Pull out shower hose 1 TUCAI 806158CJEA-A 110 nylon
18 check valve 1 Neoperl 30404300000 2 POM
19 Hand shower 1 GAOAO 804364CJA - CHROME 3 PLATING
20 washer 1 GAOAO m26855N EPDM
21 aerator insert 1 Neoperl 43.0105.000 1 POM
22 aerator housing 1 GAOAO c10094CJA 7 brass CHROME 3 PLATING
23 gasket 1 GAOAO k26836R 2 rubber
24 stabilization board 1 GAOAO t42070 19 ABS
25 gasket 1 GAOAO k26820R 3 rubber
26 metal gasket 1 GAOAO g42069 19 IRON
27 thread rod 1 GAOAO g24403 43 Stainless Steel
28 nut 1 GAOAO g23371 13 Stainless Steel
29 counter weight 1 GAOAO 809018 435 -
30 ADEO KEY 1 GAOAO w24402BK 34 PA66
31 outlet hose 1 TUCAI 544602 25 nylon
32 TAQ-PEX-DN6-ACB H1/2-M8X1 L12-550-R 1 TUCAI 544012 56 -
33 TAQ-PEX-DN6-ACB H1/2-M8X1 L12-550 1 TUCAI 544013 56 -
34 TAQ-PEX-DN6-ACB H3/8-M8X1 L12-550-R 1 TUCAI 544003 46 -
35 TAQ-PEX-DN6-ACB H3/8-M8X1 L12-550 1 TUCAI 544002 46 -


